Name _______________________                   Lab Night _________________ 

STAR COUNT FALL VERSION(Rev 9/14) 

Everyone has to get a tube and make their own measurements. No copying. Keep tube until you have made tube measurements below (part II B).

PART I  INSIDE 

If you could get away from city lights on a moonless night you could see about 2500 stars. Due to the lights and things blocking part of the sky you will see a much smaller number of stars here. See how many stars listed below you can see. Locate using charts. 

Before going outside do Part I Table I and prediction part of Table II. 

Fill in Table I using the Info panel in the Voyager program. Set location to Auburn and time to 7:45. Go to Display>Constellation to clear bushes away and turn on compass directions. Go to Find & Center to find stars.  Put apparent magnitude in brightness column. Put compass direction (azimuth) to look to see stars. Give altitude and azimuth to nearest degree. (1 pt each)
                                          Table I (Fall List)      
                    Brightness(m)     Azimuth                     Height (Altitude)
  Arcturus     _______           ______________            ________ 
   Vega         ________          ______________           ________ 

   Altair        _______            ______________            ________ 

   Antares      _______          ______________            ________ 

   Deneb        _________      ______________            ________
   Polaris       ________        ______________           ________
  Albireo       ________       ______________           ________ 

  Mizar          _________     _____________             ________
  Fomalhaut   ________       ______________            ________ 

In table 2 predict whether stars will be visible or not visible from where we will be outside. Put visible unless apparent magnitude  > 2.5, or altitude < 15. When you are outside fill in Observation (visible or not visible) column and Why Not column. (1 pt each).
                                         Table II
                    Prediction
  Observation
         Why Not(see below)


  Arcturus     _________        _____________          __________________ 

   Vega         _________        _____________          __________________
   Altair        _________       _____________         __________________    

   Antares    _________      _____________         __________________   

   Deneb      _________       _____________         __________________     

   Polaris     _________       _____________          __________________       

  Albireo     _________          _____________          __________________     

  Mizar       _________          _____________          _________________
 Fomalhaut __________          ____________            __________________   
If your prediction and observation agree put Match in Why Not column. If your prediction and observation do not agree explain why not. Examples of why not: Blocked by football stadium, sky too bright due to baseball field lights, blocked by large tree, rare clear spot so could see even though low altitude.
PART II

A) OUTSIDE Circle correct answer for the describe items below.  Then look at 10 different area of the sky through the tube and count the number of stars visible. You may need to wait your eye to adjust to the darkness. If you do not see any stars try a different area. Record counts in table.  3 pts each
Describe the weather conditions  
 Crystal Clear           Clear with some haziness      Few small clouds       Mostly Cloudy 

Describe the lighting conditions 
 Dark, city lights off in the distance         Somewhat dark, no street lights close by 

 Usual lousy conditions in front of physics building               

Describe the Moon tonight 
 Not visible during lab period      Thin crescent      Quarter Moon         Gibbous           Full 

	 Record your count results for your 10 trials (cannot be zero). 1 pts ea

	  
	  
	  
	  
	  
	  
	  
	  
	  
	 


Warning to copycats: The odds of two people having the same data is < 0.0005.
B) INSIDE  Calculate total number of stars visible from this location.

 length of tube, L =  _________  (measure in cm to nearest 1/10 cm)    (6pt) 

 Calculate average tube star count, n =  ____________   (give to nearest tenth)  (7 pt)
 For shorter tube the percentage of the sky seen through the tube is  P =0.235 %
 For longer tube the percentage of the sky seen through the tube is  P=0.157% 
Calculate approximate total number of stars in the sky (N) using your n value and percent of the sky seen.  N = ____________.  (7pt)
Using the possible number of visible stars given on first page and N, calculate the percent of stars you could see that you actually see.  % =  __________________  (7pt)
A major reason for this low percentage is too many campus lights.
 --------------------------------------------------------------------------------------------------------------------------
         TOTAL NUMBER   N = (Your average star count / Percent)  X 100

